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Function0l for No.3

A={(5,¢),(7,b),(10,¢e),(10,b),(9,t)} D,={-3,-1,0,1,3,4}
NoO] = -2={(1,C),(83,f7),i10,2r),(2,0’),(5,6‘)}’ No02=| 1= (fx)=5x>—4)
d=(x=5y"=-2)
.4=(y:5x2—2) 2=(f(x)=4x+12)
3 ; x< -4
fix)=|-2x-5 ,; 4 <x<2 A=(x=2y-3)
No03 = x+5 ; x> 2 ? ’N004:|:.2:(y2—2x—1:0)j|

[o=—24/6,p=-47y=0,6=2,6=4a=2+hb=2]

1
A=
xX)=x -
NoO5=|.2=43+x |, °N006:[Df:{x|-7<x<4}}
3=ﬁ
L 4=3x"-2
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Function0l Answers for No.3

.1 ="NOT a Function"

Ans] — 2="a Function'"
.3 ="NOT a Function"

.4 ="a Function"

Ans2—|: d={(-3,41),(-1,1),(0,-4),(1,1),(3,41),(4,76)} }
TL2=7(-3,3), (-1, 117(1/2) ), (0,2%3%1/2) ), (1, 13%1/2) ), (3, I5%1/2) ), (4, 4) }

; [sz {x|x=/= 1}}
S CR={yly=/=0}
.2 = undefined 9= [Df': {x]x>=-3]
3=-5 .1 ="a Function" . R={yly>=0}
Ans3 = 4 =undefined | Ansd = [2 ="NOT a Function"} , Ans3 = D={x|x<=0}
5=9 | R={yly<=0/}
.6 = undefined
- - y {Df: Set of all Real number}
L R={yly>=-2)

Ans6:(Rf: {x|-12<=x<37})
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